3.7 Absolute Value Equations and Inequalities
Objective: To solve equations involving absolute value
	     To solve inequalities involving absolute value.

STARTER:
Solve and Graph; then write solution in Interval Notation:
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Recall:     l 2 l = 2  and l -2 l = 2

Key concept: 
	To solve both absolute value equations and inequalities you must first __________________________________.
               Then write an _________________________ of linear equations or inequalities.
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You try:
a.   l 2x – 5 l = 13						b.    3 l x – 2 l = 6
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Now we will look at :
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You try:
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IZTTE) Ssolving an Absolute Value Equation With No Solution

What are the solutions of 3|22 + 9] + 12 = 107
10

2 Subtract 12 rom each side.
|22+ 9] = = Divide cach side by 3.

The absolute value of an expression cannot be negative, so there is no solution.

3l2z+ 9] + 1

a2z
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Got It? 3. What are the solutions of |3x — 6| —
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To solve an inequality in the form | 4| < b, where Aisa
variable expression and b > 0, solve the compound inequality

—b<A<b

To solve an inequality in the form | 4| > b, where Aisa
variable expression and b > 0, solve the compound inequality
A< —borA>b.

Similar rules are true for 4] < bor 4] = b.
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LI solving an Absolute Value Inequality Involving =

What are the solutions of |8 | = 247 Graph the solutions.
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[3t+1]>8
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T-c<lor4c=12
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AR Ssolving an Absolute Value Equation

What are the solutions of |x| + 2 = 92 Graph and check the solutions.
el +2=9

[xl +2 ~2=9-2 Subuact2 from eachside

=7 smplfy

x=7orx=-7 Definiion of absolute value

R e e B
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 Substtute 7and 7 forx. > |~7| +229
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Got It? 1. What are the solutions of | |~ 5 = ~2? Graph and check the solutions.
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Key Concept Solving Absolute Value Equations

“To solve an equation in the form | 4|
and b > 0, solve A = band A

b, where A represents a variable expression





